StarTechy:

Hard-to-find made easy®

Flat-Screen TV Wall Mount -

Articulating - Heavy Duty
FPWARTB2

*actual product may vary from photos
FR: Guide de I'utilisateur - fr.startech.com
DE: Bedienungsanleitung - de.startech.com
ES: Guia del usuario - es.startech.com
NL: Gebruiksaanwijzing - nl.startech.com
PT: Guia do usuario - pt.startech.com
IT: Guida per I'uso - it.startech.com
JP: HY?&DHEHE - jp.startech.com

cifications, and support for

n/FPWARTB2.

Manual Revision: 12/04/2018


http://www.startech.com/FPWARTB2

Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols

PHILLIPS® is a registered trademark of Phillips Screw Company in the United States or other
countries.

This manual may make reference to trademarks, registered trademarks, and other
protected names and/or symbols of third-party companies not related in any way to
StarTech.com. Where they occur these references are for illustrative purposes only and do not
represent an endorsement of a product or service by StarTech.com, or an endorsement of the
product(s) to which this manual applies by the third-party company in question. Regardless
of any direct acknowledgement elsewhere in the body of this document, StarTech.com hereby
acknowledges that all trademarks, registered trademarks, service marks, and other protected
names and/or symbols contained in this manual and related documents are the property of
their respective holders.

StarTechy.0m

Hard-to-find made easy

Instruction manual



Warning statements

in personal
injury or property damage.

theTv P Ifyou exceed the

Mensagens de aviso

C
em ferimentos pessoais ou danos de propriedade.

Certifiq a ”l

Support the following weight: Up to 45 kg (99 b,

Never use this product if parts are missing or damaged.

cinder block wall. The wall

) P
suportar o seguinte peso: 45 kg.

i supr 3
them tratura
some. "
 contact de parede. Se no tiver
‘your wall structure. estd a usar,
Varningsmeddelanden Advertencias de uso
Setil i} .
person eller egendom uppsta. lesiones personales o daios en la propiedad.
s g . . G
" saknas siguiente capacidad de carg: 45 kilogramos.
feror a1
Klara, L ¥.por certeza
Vikten av den monterade utrustningen. que pa
onten ) om instalado.
]
monteringsinstruktioner fordin vaggstruktur Bl hardw
soporte de
Avertissements
vous i vous
tisquez de vous lesser ou dendommager Iéquipement.
D Waarsch
pacité 3 e produt
peut supporter de 45 k. gens
fichamel etse of matericle schade onttaan.
Isude
it prod.
supporter au moins quatre fois le poids de l'équipement monté. P
de
murs. contactez
Specifques 3 votre Structure de mur
Warnhinweise st
di Anderenfall specifieke
Bersoman oder Schaders an Exgentum fahren mOntage. Insicties voor w waRGStrUCtuLI te geven.
Wen die Traglast .
. had o AR
Produe st fir folgendles Gewicht Geeianer. 35 ko
oss wenn BTSRRI > CARSOMAH T TR T T T AL IR ESTBAIC, MEER ST
i PWHBESRET BRNDBYET,
B —m§1b~ ARRTESSBARHEREEA LTI, axﬁ
il 1ol B S RE 7.
Gewichts ces montierten Gerats halten korinen. e mg e b o
o Wenn lhnen

flr hre Wand erteilen.

Dichiarazioni di avvertenza

dannia persone o proprieta.

ARG THAL TV SHRO—FHMEL TV BEL TV HRIETEAT B0 BICLE
BHTFEL,

BOWESHEROMAT LI RBYET, TRAIGZROBES A TERTH RS, ww
ESA—ERRICENTHCLERBLT TSV REE RSB, BEEASTNPHIIAE
RETHENAGIET, BOWES WM HE =2 —EROBIE4 HETER TEHL Lmaa
EERO TN EYE EA,

‘grado di supportare | seguenti pest 45 kg.

limancato

U
murarie.

istruzioni di montaggio per la struttura muraria i uso.

Instruction manual

x&kmuﬂm*nu\émw%% A.(ﬁﬁL?‘éﬁmm&dﬂ,‘ﬁ»ﬂ?b;ﬁuy“b BUE
B, +53 7 P L SPIREICEG

>g ‘j H55h ELIRY SEE SR THS

9117\5“*)(3»:&??9‘(?30"

StarTechg-0m

Hard-to-find made easy



Table of Contents

Warnings i
Introduction 1
Product dimensions 1
Technical specifications 2
Package contents 3
Requirements 6
Installation 7
Prepare FPWARTB2 for mounting 7
Attach the wall mount to the wall 8
Reattach the decorative covers 9
Assemble the TV mount 10
Mount a TV with a flush mounting surface 13
Mount a TV with a recessed mounting surface 14
Attach the TV to the wall mount 16
Route the cables 17
Adjust the tilt and swivel angle of the TV 18
Technical support 19
Warranty information 19
~
Instruction manual StarTeCh.'Om

Hard-to-find made easy



Introduction
Product dimensions

£
€
(=3
g
g
£ ol £
£ c|
2 £l
~ o
=
£
€
~
Instruction manual Sta rTeCh.,Om

1 Hard-to-find made easy



Technical specifications

Unless otherwise indicated, the technical specifications in the table below apply to the
TV or display.

Type of measurement : Measurement
VESA mounting hole pattern 200x200
on the TV mount 300x200
) : 300x300
o~ 400x200
@. 400x300
- : 400x400

4

45 kg (99 Ib.)

+5° to -8°

)
i Between 762 mm and 1905 mm
i (32in.and 75in.)

@ +90° to -90°

StarTechy.0m

2 Hard-to-find made easy

Instruction manual



Package contents

Wrench

Bracket screws
Qty: Four

Instruction manual

Nuts
Qty: Four

StarTechy.0m

Hard-to-find made easy



Mounting screws

e

M5x14 mm screws
Qty: Four

M6x14 mm screws
Qty: Four

M6x30 mm screws
Qty: Four

M8x30 mm screws
Qty: Four

Instruction manual

M8x50 mm screws
Qty: Four

StarTechy.0m

Hard-to-find made easy



©

Small washers Large washers
Qty: Four Qty: Four

i) i

Small spacers Large spacers
Qty: Eight Qty: Eight

P 0 =pmp

Screws Concrete anchors
Qty: Six Qty: Six
ol
Instruction manual StafTeCI".,Om

5 Hard-to-find made easy



StafTechgom

©

Bracket washers Instruction manual
Qty: Six Qty: One
Requirements

« Adisplay or TV that is compatible with one of the VESA mounting hole patterns
FPWARTB2 supports

A Phillips screwdriver

Requirements are subject to change. For the latest requirements, please visit
www.StarTech.com/FPWARTB2.

StarTechy.0m

Instruction manual
6 Hard-to-find made easy


http://www.startech.com/FPWARTB2

Installation
Prepare FPWARTB2 for mounting

1. Remove the decorative covers from the wall mount.

2. Use the wrench provided to remove the two bolts from the back of the mount
attachment and slide the TV mount up and away from the wall mount. (figure 1)

figure 1 Mount attachment

m o———TV mount

‘
Wall mount —————e (/2

Decorative cover
Wrench

A==
[ —
=0y

H Sty 2
PylliIE==
e *ét,

StarTechy.0m

Instruction manual
7 Hard-to-find made easy



Attach the wall mount to the wall

Warning! The wall mount is designed to be installed on a wood stud, solid concrete,

or cinder block wall. The wall structure should be capable of supporting at least four

times the weight of the mounted equipment. The mounting hardware included with

this product may not be adequate for installation on certain wall structures. If you lack

the necessary expertise to attach this product, contact a construction professional

to install the wall mount or to provide specific mounting instructions for your wall

structure. Failure to do so may result in personal injury and/or equipment damage.

1. Position the wall mount so that the arrow on the mount attachment is facing
upwards, and use the holes in the ends of the mounting bracket as a template to
mark the location on the wall where you want to attach the wall mount. (figure 2)

2. Follow the appropriate steps for the type of wall that you're using and attach the
wall mount to the wall.

figure 2
(&.r ) $0 )
(28 = .22)

Mount attachment

Wall mount

StarTechy.0m

8 Hard-to-find made easy

Instruction manual



Reattach the decorative covers

« When the wall mount is attached to the wall, snap the decorative covers back onto
the wall mount. (figure 3)

figure 3

Wall mount

Decorative cover

StarfTechg-om

9 Hard-to-find made easy”

Instruction manual



Assemble the TV mount

1. Slide the two horizontal brackets through the top and bottom channels of the TV
mount.

2. Insert a mounting screw in the top and bottom holes in the TV mount, and use a
Phillips screwdriver to tighten the screws. (figure 4)

figure 4

Mounting screw

Instruction manual StafTeCI".Com

10 Hard-to-find made easy



3. Select the placement of the vertical brackets that works best with the VESA
mounting hole pattern on your TV. (figure 5)

figure 5
600mm
400mm
| 300mm |
0 0
= e I P _llo
[ E E E @|poo o«
. — o Hlo
0 0
o o
€ € €
E & o § o 0
o o o
< o N
]
0
E ? ) ? D|poo oc¢
0
Vertical bracket Vertical bracket
~
Instruction manual Sta rTeCh.,Om

11 Hard-to-find made easy



4. Insert the bracket screws through the vertical brackets and the horizontal
brackets.

5. Use the provided wrench to tighten the nuts onto the bracket screws. (figure 6)

figure 6

Wrench

Horizontal bracket

o o
0 0
o o
500 000 @Bo 000 o ® © 000 o0@ 0oo 00O
S S
0 [ ) 0
o o
i O O
o ° ° o
0 0
o o

560 000 @00 000 o . © 000 000 000 000
o
o

StarTechy.0m

12 Hard-to-find made easy

Instruction manual



Mount a TV with a flush mounting surface

To accommodate different TV designs, the FPWARTB2 comes with five sets of screws of
different lengths and diameters, two sizes of washers, and two sizes of spacers.

1. To select the combination of mounting hardware that you need to use to attach the
vertical brackets to the TV, complete the following:

+ Determine the depth of the mounting holes on the TV.
« Determine the diameter of the mounting holes on the TV.

Note: If you're using a TV with a flush mounting surface, you don’t need to use any of
the provided spacers.

2. Line up the vertical brackets with the mounting holes on the back of the TV.
3. Place the small washers or large washers over the vertical brackets.

4. Insert the M5x14 mm screws or the M6x14 mm screws through the washers,
vertical brackets, and into the back of the TV.

5. Use a Phillips screwdriver to tighten the screws. (figure 7)

Warning! Do not over-tighten the screws. If you encounter resistance while you're
tightening the screws, stop tightening. Failure to do so could result in damage to the

\/g@ i Gy

M5x14 mm screw /
M6x14 mm screw

Small washer

figure 7

Large washer

StarTechy.0m

13 Hard-to-find made easy

Instruction manual



Mount a TV with a recessed mounting surface

To accommodate different TV designs, the FPWARTB2 comes with five sets of screws of
different lengths and diameters, two sizes of washers, and two sizes of spacers.

1. To select the combination of mounting hardware that you need to use to attach the
vertical brackets to the TV, complete the following:

« Determine the depth of the mounting holes on the TV.
Determine the diameter of the mounting holes on the TV.

Consult the images below to see the different hardware combinations
available, and select the one that works best with your TV.

M6x30 mm M8x30 mm

N

combined with

-

o

00

r

=
=

M8x50 mm

)

[ox

combined with

0

StarTechy.0m

Hard-to-find made easy

Instruction manual

I
(O



2. Line up the vertical brackets with the mounting holes on the back of the TV.
3. Place the large washers over the vertical brackets.

4. Insert the M6x30 mm screws, M8x30 mm screws, or M8x50 screws through the
washers, vertical brackets, spacers, and into the back of the TV.

5. Use a Phillips screwdriver to tighten the screws. (figure 8)

Warning! Do not over-tighten the screws. If you encounter resistance while you're
tightening the screws, stop tightening. Failure to do so could result in damage to the
TV.

figure 8

M6x30 mm screw
M8x30 mm screw
M8x50 mm screw

StarTechy.0m

15 Hard-to-find made easy

Instruction manual



Attach the TV to the wall mount

Warning! Make sure that the weight of the TV doesn't exceed the weight capacity of
this product. If you exceed the weight capacity, you might experience personal injury
or damage to the product. This product can support the following weight: Up to 45 kg
(991b.)

Warning! Attaching the TV is a two-person job. Do not attempt to complete this task
by yourself.

1. Carefully slide the TV mount onto the mount attachment at the end of the wall
mount.

2. Take the bolts that you removed earlier and insert them into the wall mount and TV
mount.

3. Use the provided wrench to tighten the bolts. (figure 9)

figure 9

Wrench

StarTechy.0m

16 Hard-to-find made easy

Instruction manual



Route the cables
1. Remove the decorative covers from the arms of the wall mount.

2. Position the cables in the decorative covers and reattach them to the arms of the
wall mount. (figure 10)

figure 10

StarTechg-0m

17 Hard-to-find made easy

Instruction manual



Adjust the tilt and swivel angle of the TV

1. Use the provided wrench to loosen the bolts in the side of the TV mount.

2. Position the TV at the angle that you want.

3. Use the provided wrench to tighten the bolts in the side of the TV mount. (figure 11)

figure 11

Wrench

Instruction manual StafTeCh.Com

18 Hard-to-find made easy*



Technical support

StarTech.com’s lifetime technical support is an integral part of our commitment to
provide industry-leading solutions. If you ever need help with your product, visit
www.startech.com/support and access our comprehensive selection of online tools,
documentation, and downloads.

For the latest drivers/software, please visit www.startech.com/downloads

Warranty information
This product is backed by a five-year warranty.

StarTech.com warrants its products against defects in materials and workmanship
for the periods noted, following the initial date of purchase. During this period,
the products may be returned for repair, or replacement with equivalent
products at our discretion. The warranty covers parts and labor costs only.
StarTech.com does not warrant its products from defects or damages arising from
misuse, abuse, alteration, or normal wear and tear.

Limitation of liability

In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their
officers, directors, employees or agents) for any damages (whether direct or indirect,
special, punitive, incidental, consequential, or otherwise), loss of profits, loss of business,
or any pecuniary loss, arising out of or related to the use of the product exceed the
actual price paid for the product. Some states do not allow the exclusion or limitation
of incidental or consequential damages. If such laws apply, the limitations or exclusions
contained in this statement may not apply to you.

StarTechy.0m

19 Hard-to-find made easy

Instruction manual



StarTechg:om

Hard-to-find made easy®

Hard-to-find made easy. At StarTech.com, that isn’t a slogan. It's a promise.

StarTech.com is your one-stop source for every connectivity part you need. From
the latest technology to legacy products — and all the parts that bridge the old and
new — we can help you find the parts that connect your solutions.

We make it easy to locate the parts, and we quickly deliver them wherever they need
to go. Just talk to one of our tech advisors or visit our website. You'll be connected to
the products you need in no time.

Visit www.startech.com for complete information on all StarTech.com products and
to access exclusive resources and time-saving tools.

StarTech.com is an I1SO 9001 Registered manufacturer of connectivity and technology
parts. StarTech.com was founded in 1985 and has operations in the United States,
Canada, the United Kingdom and Taiwan servicing a worldwide market.



